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e 375 3 0.8 0 0 0.0
2|5 & 57 0 0.0 586 4 0.7
3|2 F 274 2 0.7 443 2 05
4 |8 W 75 2 2.7 1,770 11 0.6
5 % H 95 2 2.1 256 4 1.6
6 |[lU T2 457 2 04 323 1 0.3
1158 B 85 0 0.0 81 2 25
8 |k Wk 1,438 4 0.3 0 0 0.0
9 X 357 3 0.8 54 1 1.9
10 3 692 2 0.3 25 0 0.0
11 * 1,571 12 0.8 1,527 12 0.8
12 i3 3,015 4 0.1 358 4 1.1
13 = 136 2 1.5 0 0 0.0
14 44 1 2.3 3 0 0.0
15 560 2 0.4 11 0 0.0
16 |2 305 5 1.6 53 0 0.0
17|/A 287 1 0.3 1,097 6 0.5
18 |18 335 0 0.0 578 1 0.2
19 |1 535 4 0.7 0 0 0.0
20 [ & 153 1 0.7 0 0 0.0
21 [ 191 1 0.5 381 2 0.5
22 |54 1,433 6 0.4 102 0 0.0
23 | = 855 2 0.2 12 0 0.0
24 [= 986 2 0.2 1,092 3 0.3
25 |i% 653 2 0.3 2 0 0.0
26 |32 295 4 1.4 356 2 0.6
27 | K 295 3 1.0 11,381 43 0.4
28 | 344 1 0.3 2,132 3 0.1
29 [ 246 0 0.0 201 0 0.0
30 [#0 2 114 0 0.0 350 1 0.3
31|58 77 0 0.0 78 1 1.3
28 R 75 1 1.3 954 7 0.7
33[@ 325 1 0.3 1,153 3 0.3
4| B 9 0 0.0 1,422 8 0.6
KM= 27 1 3.7 7,188 26 0.4
B|fE B 158 4 25 5,224 21 0.4
37(& 40 1 25 248 2 0.8
38 |T  IE 696 1 0.1 1,436 1 0.1
9|E 70 6 8.6 500 0 0.0
40 (8 E 363 2 0.6 2,634 12 0.5
MiE B 33 0 0.0 7,704 38 05
25 5 295 3 1.0 627 5 0.8
43 (88 K 302 2 0.7 848 4 0.5
41X »n 188 0 0.0 202 6 3.0
45 |8 IR 308 4 1.3 114 0 0.0
46| R B 213 2 0.9 647 6 0.9
471F 2 497 15 3.0 0 0 0.0
FRERFIR 5T 19,934 116 0.6 54,153 242 0.4
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4814 MR T 0 0 0.0 30,593 227 0.7
M0 & T 82 1 1.2 5,137 29 0.6
50| &LV F T 799 1 0.1 11,709 63 0.5
511 F E 40 0 0.0 0 0 0.0
5204 JE T 0 0 0.0 25,148 200 0.8
53[)I B T 1,703 2 0.1 9,619 61 0.6
S4B R T 0 0 0.0 102 0 0.0
55|31 B ™ 772 0 0.0 5,501 18 0.3
56 |F% [ T 560 6 1.1 7,280 36 05
570 ¥ ™ 677 2 0.3 38 0 0.0
58| HE T 0 0 0.0 10,189 65 0.6
5|] #8 T 2,370 10 0.4 4,196 22 0.5
60| K Br T 0 0 0.0 11,315 53 0.5
A Gt 674 2 0.3 5,894 31 0.5
62|t B TtH 501 4 0.8 3,018 17 0.6
63| I T 275 1 0.4 757 3 0.4
64|[ B ™™ 377 0 0.0 11,514 48 0.4
65|dt S I T 0 0 0.0 8,964 70 0.8
66|t28 [ ™ 619 4 0.6 11,428 89 0.8
67|88 KX ™™ 30 0 0.0 2,347 16 0.7
68|k fE T 0 0 0.0 195 7 3.6
69|1E JIl T 0 0 0.0 62 0 0.0
0F & ™ 135 0 0.0 2,128 9 0.4
N 15 0 0.0 32 0 0.0
72(%% [ Th 162 0 0.0 0 0 0.0
3B A T 67 0 0.0 185 3 1.6
74|48 B ™ 0 0 0.0 12 1 8.3
75|88 1L T 151 3 2.0 0 0 0.0
76|l h =T 149 1 0.7 0 0 0.0
7FEHEH 421 2 0.5 0 0 0.0
78|81 ¥ ™ 138 0 0.0 0 0 0.0
e B ™ 182 0 0.0 0 0 0.0
g8o|)ll # Th 1,047 1 0.1 1,000 8 0.8
si)il O W 192 3 1.6 5,383 52 1.0
g2l & ™ 239 0 0.0 212 1 05
g3lfin & ™™ 47 0 0.0 0 0 0.0
84 |#8 Gt 597 2 0.3 8,078 22 0.3
T NE IS 0 0 0.0 88 0 0.0
6|1l EE ™ 294 3 1.0 0 0 0.0
87| W T 3 0 0.0 0 0 0.0
88|& R w™ 24 0 0.0 645 7 1.1
89|k ¥ m™ 110 0 0.0 0 0 0.0
wllE B W™ 145 0 0.0 248 0 0.0
MENEG 388 2 0.5 22 0 0.0
92| B W™ 144 2 14 0 0 0.0
9| H ™ 0 0 0.0 330 6 1.8
MK ZF mWm 249 2 0.8 0 0 0.0
%|2 th W 157 0 0.0 0 0 0.0
%5 #H ™ 86 1 1.2 0 0 0.0
99 A ™ 35 0 0.0 0 0 0.0
8l/\ B ™ 6 0 0.0 0 0 0.0
W|EHE KR 381 3 0.8 0 0 0.0
1000 & ™™ 26 1 3.8 1 0 0.0
101 & ™ 372 3 0.8 2 0 0.0
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102lBB H 141 1 0.7 0 0 0.0
1038 &= T 118 0 0.0 18 0 0.0
104 B w™ 71 0 0.0 126 2 1.6
105/%0 Fx 1L 70 0 0.0 132 1 0.8
1062 HY ™ 43 0 0.0 195 3 15
107¥8 T 88 1 1.1 183 1 0.5
1088 B W 121 0 0.0 223 0 0.0
109[ & T 129 1 0.8 447 3 0.7
1101#28 WU 0 0 0.0 126 1 0.8
1M1[FT B 47 0 0.0 34 0 0.0
112l # 33 0 0.0 189 0 0.0
13)#y I T 423 1 0.2 1,016 7 0.7
145 % 60 0 0.0 797 3 0.4
15|/ A B X 104 1 1.0 1,292 7 0.5
116/ I 180 2 1.1 1,113 10 0.9
HIEEH&E 0 0 0.0 1,749 18 1.0
118K 4» w 378 3 0.8 1,013 2 0.2
119 B 22 0 0.0 3,562 18 0.5
120 B E T 902 5 0.6 0 0 0.0
1218 & w™ 136 5 3.7 0 0 0.0
1221/ 8 1H 76 0 0.0 132 3 2.3
123/AT A 14 0 0.0 0 0 0.0
1248 R ™™ 24 0 0.0 0 0 0.0
125|% ~ G 5 0 0.0 0 0 0.0
1268 B 463 2 0.4 204 4 2.0
121K EHBHTH 0 0 0.0 838 7 0.8
RN EHE 19,089 84 0.4 196,761 1,254 0.6
128 F K H X 11 0 0.0 115 0 0.0
129 £ K 17 1 5.9 0 0 0.0
130;& X 0 0 0.0 0 0 0.0
131 B X 1,385 5 0.4 38 0 0.0
132|X = K 58 0 0.0 0 0 0.0
1338 | K 0 0 0.0 0 0 0.0
134= H X 0 0 0.0 217 3 1.4
135 B X 0 0 0.0 109 2 1.8
1364 JII X 34 0 0.0 972 5 0.5
1378 B K 356 2 0.6 0 0 0.0
138) Kk A K 0 0 0.0 42 3 7.1
139t @ & K 0 0 0.0 157 6 3.8
140% B K 268 1 0.4 21 0 0.0
40 5 X 377 4 1.1 0 0 0.0
142142 ¥ X 147 0 0.0 481 1 0.2
14318 B X 692 4 0.6 115 1 0.9
144]3t X 52 0 0.0 242 3 1.2
1457 Il X 0 0 0.0 436 1 0.2
14611k 1B X 40 2 5.0 0 0 0.0
1415 B X 0 0 0.0 3,895 16 0.4
14818 31 K 0 0 0.0 33 2 6.1
195 ffF X 0 0 0.0 319 3 0.9
150, F JIl X 0 0 0.0 354 9 25
R X & 3,437 19 0.6 7,546 55 0.7
At 42 460 219 0.5 258,460 1,551 0.6
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114 &' & 375 0 0.0 0 0 0.0
2|15 & B 57 1 1.8 590 4 0.7
3B F B 275 3 1.1 448 0 0.0
41 H B 71 0 0.0 1,761 11 0.6
5(f% H B 96 1 1.0 265 1 0.4
6|l B & 436 0 0.0 330 1 0.3
1718 B B 85 0 0.0 78 0 0.0
8| W B 1,394 10 0.7 0 0 0.0
9t KX B 356 1 0.3 54 0 0.0
0| E B 689 3 0.4 25 0 0.0
1MEF = 1,560 3 0.2 1,527 7 0.5
12 3 2,395 6 0.3 327 4 1.2
13 = 136 0 0.0 0 0 0.0
14 = 42 0 0.0 3 0 0.0
15 = 554 1 0.2 11 0 0.0
16 ] 302 1 0.3 53 1 1.9
17 J 287 0 0.0 1,097 5 0.5
18 i 330 0 0.0 575 3 0.5
190y 3 534 2 04 0 0 0.0
20| % 154 2 1.3 0 0 0.0
21|l B 190 3 1.6 381 3 0.8
22 |8% W 1,273 6 0.5 101 2 2.0
23[F 4N 838 1 0.1 12 0 0.0
4= =E 988 4 0.4 1,092 4 0.4
25\ B 651 2 0.3 2 0 0.0
26 |5 #B 295 0 0.0 350 3 09
27({K B 295 0 0.0 7,586 24 0.3
28|E E 339 1 0.3 2,151 2 0.1
29F%F B 243 0 0.0 201 0 0.0
30 |F0 F& W4 117 2 1.7 351 2 0.6
31|18 117 0 0.0 78 0 0.0
32185 R 75 0 0.0 958 10 1.0
33| W 324 2 0.6 1,153 11 1.0
ML B 9 0 0.0 1,510 6 04
3B O 27 0 0.0 7,188 30 0.4
Bl B 158 0 0.0 5,266 6 0.1
37(F 41 1 2.4 246 1 0.4
38 |T 1B 113 0 0.0 1,430 3 0.2
I|E & 67 0 0.0 500 0 0.0
40 ([ M 357 2 0.6 2,634 23 0.9
ME B 32 0 0.0 7,737 32 04
QE IH 297 2 0.7 632 4 0.6
43|fE K 302 7 2.3 846 0 0.0
4|X & 185 1 0.5 202 6 3.0
45 | & 2 307 0 0.0 116 0 0.0
46| R B 216 0 0.0 647 2 0.3
474 §8 363 6 1.7 0 0 0.0
FRIERF IR ET 18,307 74 0.4 50,514 211 04
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48[4 R T 0 0 0.0 31,039 52 0.2
Ml & T 83 1 1.2 5,185 12 0.2
50|csWLNF=F T 791 2 0.3 11,709 17 0.1
511F & W 40 0 0.0 0 0 0.0
501 B T 0 0 0.0 25,502 99 0.4
530)I K T 359 0 0.0 9,625 34 0.4
54 R 0 0 0.0 102 0 0.0
55|31 &/ T 769 0 0.0 5,501 6 0.1
56|32 M T 558 0 0.0 7,280 21 0.3
570 ¥ ™ 589 0 0.0 40 0 0.0
58| B E T 0 0 0.0 10,189 44 0.4
50 # T 2,370 1 0.0 4,196 27 0.6
60|k PR T 0 0 0.0 7,793 24 0.3
61 1R Gl 674 1 0.1 5,894 28 0.5
62|t FE th 0 0 0.0 3,018 10 0.3
63| U T 274 1 0.4 757 6 0.8
64|l B ™™ 377 2 0.5 11,761 21 0.2
653t fu I T 0 0 0.0 8,965 45 0.5
66|48 B T 622 1 0.2 11,428 48 0.4
67|28 &KX ™ 30 0 0.0 2,355 16 0.7
68| fE ™ 0 0 0.0 193 3 1.6
69|71 JIl T 0 0 0.0 61 0 0.0
08 #F W 138 1 0.7 2,150 7 0.3
VN 14 0 0.0 32 0 0.0
72|% [ T 162 0 0.0 0 0 0.0
B3| A T 67 0 0.0 182 2 1.1
74]1%8 B W™ 0 0 0.0 12 0 0.0
75|88 W T 151 1 0.7 0 0 0.0
6L h & 149 0 0.0 0 0 0.0
TT|F#ME ™ 395 1 0.3 0 0 0.0
78|81 & ™ 138 0 0.0 0 0 0.0
g B W 176 0 0.0 0 0 0.0
gof)Il #& T 1,043 0 0.0 1,001 1 0.1
silJ)l @ T 192 1 0.5 5,383 22 0.4
g2|# A ™ 242 0 0.0 212 2 0.9
83|fR #& ™™ 47 0 0.0 0 0 0.0
84 |8 ™ 600 1 0.2 8,184 5 0.1
85|\ E F 0 0 0.0 89 0 0.0
g6l A E ™ 294 1 0.3 0 0 0.0
87|12 U ™™ 3 0 0.0 0 0 0.0
88| R ™ 24 0 0.0 645 6 0.9
89|l ¥ ™ 110 0 0.0 0 0 0.0
0|k B W 145 2 14 248 2 0.8
9|8 B T 388 0 0.0 22 0 0.0
2| B T 141 2 14 0 0 0.0
93|28 A ™ 0 0 0.0 330 0 0.0
MUlX F W 249 1 0.4 0 0 0.0
%|2 t W 157 0 0.0 0 0 0.0
%5 H ™ 85 0 0.0 0 0 0.0
99 A ™ 35 0 0.0 0 0 0.0
8l/\ B W™ 6 0 0.0 0 0 0.0
9[E KR H 381 1 0.3 0 0 0.0
1000 & ™ 26 0 0.0 1 0 0.0
10118 B W 372 0 0.0 2 0 0.0
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102/lB8 H 143 0 0.0 0 0 0.0
10378 = 118 1 0.8 18 0 0.0
104Z B 1 71 0 0.0 126 1 0.8
105(F0 % LU 72 0 0.0 133 1 0.8
106)/& HY 42 0 0.0 195 0 0.0
107#8 T W 88 0 0.0 182 2 1.1
108|8 B W 118 0 0.0 222 0 0.0
109| 2 ™ 130 0 0.0 451 2 0.4
110142 WU 0 0 0.0 126 1 0.8
1M|[F B W 47 0 0.0 35 0 0.0
112l ¥ 33 0 0.0 189 2 1.1
13|y I 427 0 0.0 1,021 2 0.2
H4lE %1 T 59 0 0.0 815 0 0.0
15| B KX 106 2 1.9 1,292 11 0.9
116/ I 181 1 0.6 1,111 0 0.0
MiE#HE s 0 0 0.0 1,756 6 0.3
118Kk » w 378 3 0.8 1,011 6 0.6
1M1= B 22 1 45 3,565 9 0.3
120ERE ™ 901 1 0.1 0 0 0.0
1218 & ™ 127 3 2.4 0 0 0.0
1221/ 8 1H 76 0 0.0 132 1 0.8
12367 H 14 0 0.0 0 0 0.0
124[f% R ™™ 25 0 0.0 0 0 0.0
125|1% &~ & 5 0 0.0 0 0 0.0
126|P8 B ™ 468 0 0.0 206 0 0.0
IXKEHTH 0 0 0.0 838 5 0.6
REFTRE A 17,117 33 0.2 194,510 609 0.3
1221 F K H X 11 0 0.0 115 0 0.0
123 £ X 17 0 0.0 0 0 0.0
124/ X 0 0 0.0 0 0 0.0
12503 B X 0 0 0.0 38 0 0.0
126|X. | X 59 0 0.0 0 0 0.0
127118 B K 0 0 0.0 0 0 0.0
128)= H K 0 0 0.0 217 0 0.0
1200 & X 0 0 0.0 110 2 1.8
1304 JII XX 34 0 0.0 972 2 0.2
1311 B K 356 1 0.3 0 0 0.0
132l Kk H K 0 0 0.0 42 0 0.0
133H H A X 0 0 0.0 157 0 0.0
1343 & K 0 0 0.0 21 0 0.0
135/F B X 98 0 0.0 0 0 0.0
13642 df X 147 0 0.0 481 1 0.2
13782 B K 692 0 0.0 115 0 0.0
138/dk X 52 0 0.0 241 1 0.4
1397 JII 0 0 0.0 436 3 0.7
140(fR & X 40 0 0.0 0 0 0.0
14E B K 0 0 0.0 3,895 2 0.1
1421 1 K 0 0 0.0 33 0 0.0
18 ff X 0 0 0.0 319 2 0.6
144 B Il X 0 0 0.0 354 1 0.3
F R X & 1,506 1 0.1 7,546 14 0.2
B 36,930 108 0.3 252,570 834 0.3




